aF0 35y 5 2 % 15
BT R 4 : A-BAARBEASAT ___ERHEE
o rm ks @ W @ 6| BEREAREELEISEES
% i a i # @ #
| BT F P X 3 — I wﬁ 4 - - - -
ERCLASR D [Ktek 40 | L2 40k 6] - 0~ —| =
fIgz 1 ~3TH Gik:gle=s:
1 B - | B ﬂﬁ1m‘ b e | -
2 _EFECLISh o> M 40 | 1.2 k¥ mj Loy k- -
AL AR X i
1 B —fti spn 47—~ —| -
2 ERLS 0K 40 | L2 4orh e3rh 22 220~ —
W EEH B Pt X —%l 38 46— | | —
EREEISR O X tek 40 | L1|R 47k 58 | | | -
LEH1TH Dikcapldrs:
1 BRI — | B&E ) LbME bkME HME MR | —
2 LERLEA o iR 40 | 1.1 Fk#E bR¥E ObLYE HME - —
A E A X
1 B —pil 37TL 46 — - - -
2 ERPADORE 40 | L1 48F 58 — -~ —| -
il 3 B i It Pk —%h 3@ 47— —| - —
ERELASR D XI5k 40 | L1|F 44 60fKE 38 33 @ —| @ —
FRIEHENI1 - 2 TH |HifHbXE 40 1] ¥ J:I::i;r ttfﬁrmhti%! - -
T LA ik
1 EEFIHEK N —ft 3T 48— —| - -
2 ERLUOXIR 40 | L1 48 s 88 38— —
FR3EWE 1 - 2TH |2k — | BRE| PRME bhYE LM My | —
F| A EE ARSI S g JBL R A7 (X 35
1 BRI —# 1sp 28— | ] —
2 kRS OXIE 40 | L1|F 19 34 22¢p 220 | —
ERRLISR D K Igk
1 R MR — i mﬁ 1 S s




aF0 35y 5 2 % 2H
BT R 4 : A-BAARBEASAT ___ERHEE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i a i # @ #
H3| A 2 LR ORI 40 | L1|F 28% 48 22 22— =
WE1~10TH | LXK
1 B s — | B PbME bkWE v e | —
2 RS O i 40 | 1.1 k¥ mz b b - —
A Xt
1 AR —§t supi 33—~ —| -
2 ERES ORI 40 | L1|F s9h 43 | | | —
BER1TH e 40 | 12| ki M v W - -
I| R B Pt X —%l 24t 3¢ 0 —| | | -
ERLEA O Kt 40 | L1 31 46 229 220 | —
Rl - 2 TH LR
1 [Eil 2 5 BB — | BEM | bEYE bbdE phdg peME | —
2 RELA Ok 40 | L.1| k¥R PREE fRYE peHE - -
A E A X
1 BRI —h 24 34— - - -
2 ERPADORE
(1) ¥ 2 5By 0 | 11|k 3¢ - - - - -
(2) BRSO Hutsk 40 | 1R osfp 44 - |~ -
ANEH e ) 1 X3 —f 33 35— —| - -
ERELA O K5k 40 | L1 46ff 48 00— - —| -
ANEBET - 2TH | ERER 40 | 12| Fb¥E bRWE LkvE ey - -
BT LA X ik
1 BRI —f 3ot 35 0 —| —| - -
2 BRSO 40 | L2/ o4arp 500 | | — -
L #h Ece 40 | 1.1 S B R S SR U I
M1 ~5TH [k E(4=R2 — | BERR | LEWE bhYE v rky | —
AL AR X ik
1 R MR — |l Wﬁ 45  — - - -




aF0 35y 5 2 % 3HE
BT R 4 : A-BAARBEASAT ___ERHEE
o rm uskre] wm W m m 6 | PEBEERESLRISEES
% i a i # @ #
U #f1~5TH 2 BRSO 40 | L1 46 B8 14 14— —
Io| W% i P X3 —pi 1998 36 00— - - —
EERLUA 0 [ g 40 | L1k 39p 7 22fh 224 | —
&1 2TH B P R A T e I e
ERLLUA O Rtk 40 | L.1|% 39 seH 220 22— —
HEE1TH g 40 | 11| MeE kME pLvE ¥ | -
HEH PR X I —ft 13 o200~ —|  —| -
ERREIS O gk 40 | L1 17 248 27l 27 | —
BEM1~4TH SR A 213 — | B HiE m;rmﬁﬁ%ﬁ =
ERCEISR O Hite 40 | 11| ¥ LR L HHE - —
A1 ~6TH |[T#ERE
1 BRI — | B&E ) LbME bkME HME MR | —
2 LERLEA o iR 40 | L.1| ke¥E b¥E HYE O H¥E - —
A E A X
1 BEASHR sty i A P IR 40 | L1\ 11 28t 3488 34 0 —| —
2 ERPADORE 40 | L.1|% 25% 499 40P 40 0~ —
FERPE 1 ~8TH |k
1 BEHMME iR — | B ¥ bW v m | —
2 _LRELIS O Mk 40 | 1.1| ke¥E bb¥E bR LkME - -
T LA X sk 40 | 1% 28 47 28 28— —
MEEME1~6TH |fffbXR
1 [EE 2 5 8/miny — | B - -
2 kRS 40 | 1.1 - -
A L R ek
1 BRI - - -
2 kRS OXIE 40 | 1.1 - -
E| HEF1TH R 23 — | B - -
_ERCEASR D Hindsk 40 | 1.1 - -




aF0 35y 5 2 % 4H
BT R 4 : A-BAARBEASAT ___ERHEE
o rm wers] @ @ m om 5 | EEREENEmCEISEES
% i a i # @ #
v ARES F P X 3 —ft sep 42 0~ —| - -
ERCLASR D [Ktek 40 | L1|F 46k 500 - — - —
REE1 - 2TH Gik:gle=s:
1 B - | B ﬂﬁ1m‘ b e | -
2 _EFECLISh o> M 40 | L1| ke mj Loy k- -
AL AR X i
1 B —fti sEpL 41—~  —| -
2 ERLS 0K 40 | L1 45 511~~~ -
) EESF T X 40 | 11| ke bRYE OHVE My | —
LA X
1 BRI
(1) FB Pt R Sk —ioe @ 10—~ — -
(2) kRS ORIR 40 | LR 7.2 1280 e 1) - —
2 YRR S B R R AR AT B X 40 | 0.7 10 11 168 16 —| —
3 BEMRHAE AR R R
(1) B i X Ik —fl 1ot 11— o~ o~ =
(2) BRSSO 40 | L1 12 148l 17E 17— —
4 LFRLA O
(1) J Fi s I —d 151 2 - - - -
(2} LRSI 40 | 1% 28 37EE 22 22— —
Bl - 2TH  [H#ERE
1 B — | B kbﬁ e b I:tﬁl - -
2 kRS 40 | 11| ki wj tevE e - -
LA ek 40 | L1 o8p 40 - | | -
Hhesrdb 1l - 2TH |Ai kxR
1 B o — | BERR | LEWE bhYE v rky | —
2 _ERREA s 40 | 11| Fe#E pe¥E pRvE pdE | -
A E AR X




aF0 35y fis 2 % =
BT R 4 : A-BAARBEASAT ___ERHEE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
V3 ML - 2TH 1 (hRESREE LA B R R R HE X uﬁ Qﬁ* £¢ £¢ £¢ ﬁ B
2 BEASIEER b A0 R L R K IRk 40 | L1k 1 17 28 26— —
HEREF LN =i 40 | 1.0 e T e T
BMEFE1~3TRH [Hi#bR®
1 BEHR — | BEER ) MR YR e e | —
2 _ERCEAS o> itk 40 | 11| K ¥ el My - -
AL R (I
1 EMESREE 6 B AR R A HX 40 | 0.7 1uh 20 24 24— —
2 BEMSEE SR B L IRAT KIS 40 | L1 % 13 23 26 26— —
SRR L - 2 TH  [MEEK
1 BEARAEHE — | BeMR | Kkl bk kv bWy | -
2 BRSO 40 | 1.1 Pe¥H bR¥E bME pbMY | —
AT LA X
1 R —ft 24t 36 00— —| —| -
2 _ERREM O X 40 | L1 31 46 ~| o~ —~| =
BHEER 1 T H rTATb R
1 BRI e — | B LEME bk bk bkl | —
2 LRELA DR 40 | 1.1| kY8 Lk¥E bevE W - —
AL X 35k
1 R — o6 28 0 — - - -
2 EFRLS ORI 40 | L1k 40 Bl — - — =
HHesFm 2 - 3T H [ LXK
1 Bl e — | BRE| PRME bhYE LM My | —
2 EERLA O 40 | 11| Fe¥E be¥E HevE W - -
A L A X gk
1 R —f 26t 29 | —| | -
2 RSO 40 | L1 42 51 22 22 — =
A I FE% P il X3 — |l 13rm 28— - - -




aF0 35y fis 2 % 6E
i XHTAT 4, AR B ARBEAR AT ___ERHEE
T
% i a i # @ #
A = FH _EFRLIS O Kt
1 BEMSIRE b A4 B PR KA 40 | L1 14fb 286 18fE 18— —
2 bR ORI 40 | L1[h 28 44 2000 200 | —
W BHE B P R — 27 36 | | | —
ERLLUA O Rtk 40 | L1 35t 41 14 14 - —
H#Z1~4TH (iR (ES 40 | L1| ke¥g be¥E HYE O - -
AL R (I
1 BRI —ft 26 35— | | —
2 RELU XIS 40 | Lz |k 33 39 14 14 | —
HZA1~38TH  |[HE{LXEK 40 | 11| ¥ LR L HHE - —
A LA K
1 FRFHR —ft 27 3¢ —  —|  —|  —
2 ERUASAORR 40 | L1k 35 alfF 14 14— -




